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KST-FRI-Žilinská univerzita  

  195  (platí od 30.III. do odvolání)   Rybník - Lipno nad Vltavou 
km

  
SŽDC, s. o. / ČD, a.s. Vlak   18822 

  

 18820 

  

    18828 

  

   18832 

  

   18836 

  

 

  Ze stanice   Horní 
Dvořiště 

           

0
  

Rybník 196   6 23  7 00     11 05    13 05    15 12  
8

  
Rožmberk nad Vltavou    6 35  7 12     11 17    13 17    15 24  

9
  

Herbertov    6 37  7 14     11 19    13 19    15 26  

11
  

Těchoraz    6 41  7 18     11 23    13 23    15 30  
12

  
Vyšší Brod klášter    6 45  7 32     11 28    13 29    15 34  

15
  

Čertova Stěna    6 49  7 36     11 32    13 33    15 38  

19
  

Loučovice    6 57  7 44     11 40    13 41    15 46  
21

  
Loučovice zastávka    7 01  7 48     11 44    13 45    15 50  

22
  

Lipno nad Vltavou     7 04  7 51     11 47    13 48    15 53  

 jede v  a  

 jede v  do 24.IV. a od 5.X., od 27.IV. do 2.X. 
jede denně
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  195  (platí od 30.III. do odvolání)   Rybník - Lipno nad Vltavou 
km

  
SŽDC, s. o. / ČD, a.s. Vlak    18840 

  

  18842 

  

  18844 

  

    18860 

   

   

  Ze stanice               

0
  

Rybník 196    17 05   18 05   19 12     22 10    
8

  
Rožmberk nad Vltavou     17 17   18 17   19 24     22 22    

9
  

Herbertov     17 19   18 19   19 26     22 24    

11
  

Těchoraz     17 23   18 23   19 30     22 28    
12

  
Vyšší Brod klášter     17 27   18 30   19 36     22 31    

15
  

Čertova Stěna     17 31   18 34   19 40        

19
  

Loučovice     17 39   18 42   19 48        
21

  
Loučovice zastávka     17 43   18 46   19 52        

22
  

Lipno nad Vltavou      17 46   18 49   19 55        

 nejede 24., 25., 31.XII. 

 jede v  do 24.IV. a od 5.X., od 27.IV. do 2.X. 
jede denně
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  195  Lipno nad Vltavou - Rybník 
km

  
SŽDC, s. o. / ČD, a.s. Vlak    18861 

   

  18801   11257 

  

   18823 

  

  18825 

  

   

0
  

Lipno nad Vltavou       5 40  5 40    8 14   10 13    
1

  
Loučovice zastávka       5 43  5 43    8 17   10 16    

3
  

Loučovice       5 46  5 46    8 20   10 19    

7
  

Čertova Stěna       5 52  5 52    8 26   10 25    
10

  
Vyšší Brod klášter     5 08   5 58  5 57    8 32   10 33    

11
  

Těchoraz     5 11   6 01     8 35   10 36    

13
  

Herbertov     5 15   6 05     8 39   10 40    
14

  
Rožmberk nad Vltavou     5 19   6 09     8 43   10 44    

22
  

Rybník 196     5 30   6 20     8 54   10 55    

  Do stanice     České 
Budějovice 

         

 nejede 25., 26.XII., 1.I.

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  195  Lipno nad Vltavou - Rybník 
km

  
SŽDC, s. o. / ČD, a.s. Vlak  18829 

  

  18833 

  

   18837 

  

   18841 

  

    18845 

  

 

0
  

Lipno nad Vltavou   12 11   14 11    16 13    18 12     20 42  
1

  
Loučovice zastávka   12 14   14 14    16 16    18 15     20 45  

3
  

Loučovice   12 17   14 17    16 19    18 18     20 48  

7
  

Čertova Stěna   12 23   14 23    16 25    18 24     20 54  
10

  
Vyšší Brod klášter   12 32   14 33    16 32    18 32     21 00  

11
  

Těchoraz   12 35   14 36    16 35    18 35     21 03  

13
  

Herbertov   12 39   14 40    16 39    18 39     21 07  
14

  
Rožmberk nad Vltavou   12 43   14 44    16 43    18 43     21 11  

22
  

Rybník 196   12 54   14 55    16 54    18 54     21 22  

  Do stanice               
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 nejede 24., 25., 31.XII.  jede v  do 24.IV. a od 5.X., od 27.IV. do 2.X. 
jede denně

 

 

 


